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Name:_________________________________Block:_________________________Date:__________________

[bookmark: _GoBack]HOMEWORK: Digging Up the Past
Pg. 89 in your textbook

Answer the following questions IN YOUR JOURNAL, using COMPLETE SENTENCES.

1. Why can we infer that a wild animal did not kill Lucy?
2. Why were Lucy’s bones so well preserved?
3. How old was Lucy when she died? When compared to today’s times, she would be as tall as a current human of what age? (Roughly)
4. Why can we infer that she walked upright on two legs?
5. Why did Johanson decide to return to the same ancient lake bed the following year? What was he looking for and why did he think it was a good idea to take another visit?
6. What did he find?
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